22 3 110

(A)

(A) 110 (B) 75 (C) 45

(B)

(®)

(D)

200 5 (CT)
2
(A) 100 (B) 80 (C) 40
OO O “ v v

(A) V1=Vo+V3 (B) Vo=V1+V3 (C) V3=V1+V>2

*@__

SHICE ¥

800
(A) 1150 (B) 800 (C) 450
1
0.8
(A) 0.88 (B) 0.78 (C) 0.68
1710
(A) 2100 (B) 1050 (C) 525
4 220 60 1
44 4

(A) 40 (B) 30 (C) 20

(D) 15

(D) 20

(D) V3=2V;1+V;

350
(D) 350

200 6
(D) 0.58
(D) 250
(D) 10



10.

11.

12.

13.

14.

15.

16.

17.

(A)
(©

(A)
(®)

(A) 50%

(A)2

(A) 8

(A) F=A+B+C
8 (8 hit)

1
(A) Tl

(A) PUT

(A) 0.7(R +2R,)C, (B) 0.7(R+R)C,

250
(B) 25%

200 60
(B)4

u(t) =5sin314t

(B) 6

(NAND gate)

(B) F=A+B+C

(B)
(D)

(B)
(D)

200
(C) 15%
(C) 6
(C) 4

F
(C) F=AxB>C

D A converter

1
(B) pr

(B) DIAC

555

jf}ﬁji

1
© o7

(C) SCR

(€) 0.7(R+2R)C

(D) 5%

899

(D) 8

5ms DIv

(D) 2

A B C

(D) F=AxB>C

1
(D) 3l

(D) SCS

(D) 0.7(R+2R)C,

T

T OVc(:

555

=

l

I



18.
(A) 3

19.

(A) 20

20.

(A)

21.

(A)
(C 15

741
B) 6

(B) 14

Vi

©)

©)

7805
(B)
(8)

RY
(B)
Vi
T

7805
_J_ Ck%l{

15

(D)

- 15

(D)

(D)

- 20



22.

(A) (B)
© (D)
Pt
Ry
VI r— NN——o
R 2% = V,
v >_J._
23, (AF) 100A (N.F.B)
N.F.B.
AT)
(A)125 150 A (B) 90 A
(C)175 225A (D) 400 A

220V
AF=100A

NFB NFB

NFB

o0

I\J

24, Y-A Y
IY —
" =7 ® 1-=3
25, (M.C.)
)
©
26. 3y 220V 5HP 60Hz
1.246Q

(A)9V (B) 12 V

(C)15V

N.FB. 1

(D) 42 V



27. 3y 220V 75HP 60Hz 22 A Y-A

(THRY) 1.15 THRY
(A) 10 A (B) 15 A (C)30A (D) 60 A
28. 150 5 (CT) 1
50 5
(A)6 (B)5 C© 4 (D)3
29. S (OFF) 2 3 (ON)
1 2
(A) R (B) 2R (C) 3R (D) 4R
R R
1
2R
2R
R
2
30.
(A) PB1 (ON) X M1 M2
(B) PB1 (ON) X M2 M1 (TRLTC=5 )
(C) PB1 (ON) M2 M1 (TRLTC=5 )
(D) PB1 (ON) M1 M2 (TRLTC=5 )
X
L . .
R | B J;
M2
PB2 = OFF JéMz ‘>5TR1TC
) TR2
X
=2
ON TR1
M1 ON M2 TR2

X
<l> ON




31

32.

33.

35.

(A)100 200 Q

(CGp 100 Q
M2 M2
M1 M2

A) e (TRLITC)

© __ 55 (TR2/TC)

( BSPQ
( D3P0 Q
PB1
20
1 2

220 300

(ON) M1
PB2

B) —oAo— (TRL/TO)

®) _opo (TR2/TO)

R pg2 PB1
O O

OoL2

M1
Q| O— ()¢ O
I TR1 ~ ON
TR1 Il (inst) /
5 TR2 20
O O MZO
1 2| 710
TR2/~\ ON
N\
2.1 kw 4200 kca hr
(EER)

(A) 2kcal W-hr (B) 3kcal W-hr

(A)
(B)
(©)
(D)

(A)
(©

(C) 4kcal W-hr

(B)
(D)

(D) 5kcal  W-hr



36. 175 kg/cmg R=25

kg/cm*g kg/cm*g kg/cm-g kg/cm*-g
(A) 4.1 (B) 5.2 (C) 6.4 (D) 8.2
37. ( )RC sC
R R C R S
C R R S

(A) Re<Re<Ris (B) Re<Rc<Rs (€ Rs<Re<Re (D) Re<Res<Re

RC
R O YT
Co
SO YY)
SC
38.
(A)
(B)
©
(D)
39.
(A) (B) ©) (D)
40.
(A) (B)
©) (D)



